
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
négatives de dix

2456, 6 × 0.001 = ________ 8070, 7 × 0.001 = ________

1316, 1 × 0.0001 = ________ 9031, 9 × 0.1 = ________

5907, 6 × 0.001 = ________ 1972, 6 × 0.1 = ________

2195, 5 × 0.1 = ________ 4284, 2 × 0.1 = ________

4174, 7 × 0.0001 = ________ 4283, 1 × 0.01 = ________

1002, 1 × 0.001 = ________ 6688, 9 × 0.0001 = ________

2107, 7 × 0.001 = ________ 5775, 4 × 0.001 = ________

4210, 3 × 0.1 = ________ 7597, 6 × 0.1 = ________

2354, 6 × 0.0001 = ________ 4643, 5 × 0.001 = ________

5110, 7 × 0.1 = ________ 5762, 4 × 0.0001 = ________
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Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
négatives de dix

2456, 6 × 0.001 = 2.4566 8070, 7 × 0.001 = 8.0707

1316, 1 × 0.0001 = 0.13161 9031, 9 × 0.1 = 903.19

5907, 6 × 0.001 = 5.9076 1972, 6 × 0.1 = 197.26

2195, 5 × 0.1 = 219.55 4284, 2 × 0.1 = 428.42

4174, 7 × 0.0001 = 0.41747 4283, 1 × 0.01 = 42.831

1002, 1 × 0.001 = 1.0021 6688, 9 × 0.0001 = 0.66889

2107, 7 × 0.001 = 2.1077 5775, 4 × 0.001 = 5.7754

4210, 3 × 0.1 = 421.03 7597, 6 × 0.1 = 759.76

2354, 6 × 0.0001 = 0.23546 4643, 5 × 0.001 = 4.6435

5110, 7 × 0.1 = 511.07 5762, 4 × 0.0001 = 0.57624
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